

AP Calculus AB


Volume of Revolution Worksheet
Disk and Washer Methods

(Integrate by hand and double check you work--also practice integrating)
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1. Find the volume of the solid of revolution generated by revolving the region bounded by y = 6, y = 0, x = 0, and x = 4 about: (a) the x–axis (452.389) and (b) y–axis (301.593)
2. Find the volume of the solid of revolution generated by revolving the region bounded by y = 
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 and y = 0 about the x–axis. (4.189)
3. Find the volume of the solid of revolution generated by revolving the region bounded by y = x2 and y = 4 about the x–axis. (160.850)
4. Find the volume of the solid of revolution generated by revolving the region bounded by y = 2x2, y = 0, and x = 2 about: (a) the y–axis (50.265), (b) the x–axis (80.425), and (c) the line y = 8 (187.658),
5. Find the volume of the solid of revolution generated by revolving the region bounded by y = x2 and 

y = 4x – x2 about: (a) the x–axis (33.510) and (b) the line y = 6 (67.021)
Shell Method

(Integrate by hand and double check you work--also practice integrating)
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Complete each using the shell method--you may check using the disk or washer method.

For problems 1-18, use the Shell Method to find the volume generated by revolving the given plane region about the given line. 
1. y = x, y = 0, x = 2, about the y–axis (16.755)
2. y = 1 – x, y = 0, x = 0, about the y–axis (1.047)
3. y = x2 + 4, y = 8, x > 0, about the y–axis (25.133)
4. y = x2, y = 0, x = 2, about the y–axis (25.133)
5. y = x2, y = 4x – x2, about the line x = 2 (16.755)
6. x + y2 = 9, x = 0, about the x–axis (127.235)
19. Use the Disc (Washer) or Shell Method to find the volume of the solid generated by revolving the region bounded by y = x3, y = 0, and x = 2 about: (a) the x–axis (57.446), (b) the y–axis (40.212), (c) the line 


x = 4 (60.319), and (d) the line y = 8 (143.616).
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